Mining District File Summary Sheet

DISTRICT	Rosebud
DIST_NO	4010
COUNTY If different from written on document	Pershing
TITLE If not obvious	Rosehad Drill Hole File - Drill Hole 95-355
AUTHOR	C. Muerhoft; K. Allen
DATE OF DOC(S) MULTI_DIST Y / N2 Additional Dist_Nos:	1995
QUAD_NAME	Sulphur 7.5'
P_M_C_NAME (mine, claim & company names)	Posebud Mine: Rosebud Project; Hecla Mining Co.; PC Exploration Inc.; Coates Drilling Co.
COMMODITY If not obvious	gold; silver
NOTES	lauries table logging time and exprace; deaily driller's Reports
	if no oversized maps attached SS: DD 6/6/08
Keep docs at about 250 pages (for every 1 oversized page (>1 the amount of pages by ~25) Revised: 1/22/08	

INVOICES, DAILY LOG, DAILY REPORTS

60001119 4010

6000 1719

P C EXPLORATION, INC. P. 0. Box 870096 Woods Cross, UT 84087-0096 (801) 295-4238

INVOICE NOT 1 3146 Page: T

Invoice Date: 10/17/95

HECLA MINING COMPANY ROSEBUD PROJECT P.O: BOX 1861 LOVELOCK, NV 89419 ROSEBUD PROJECT

Job:	Unit #	Terms	Work Date	
329024	LV38	NET 30 DAYS	10/1 TO 10	12 T(************************************
Qt.y	Description		Unit \$	Total
	HOLE 95-355 NQ 70 DEGREE ANGLE HOLE			
	O FOOTAGE THIS INVOICE			
	SEE ATTCHED SCHEDULES ON THE FOLLOWI	NG		
38:00	DRILL CREW HOURS		\$95.00	\$3,610.00
1.00	MATERIALS		\$481.36	\$481.36
2.00	WATER TRUCK DAYS		\$175.00	\$350.00
30.00	WATER TRUCK HOURS		\$30.00	\$900,00
11.00	SUBSISTENCE		\$50.00	\$550,00
2.00	SUPERVISOR SUBSISTENCE		\$50.00	\$100.00

on to puy 57 muth

Please remit payment to: 1780 Vernon Street, Suite 3 Roseville, CA 95678 For Inquiries call (801) 295-4238

Total Invoice: \$ 5,991.36

P C EXPLORATION, INC P. O. Box 870096 Woods Cross, UT 84087-0096 (801) 295-4238

INVOICE No. : 3146 Page: 1

Invoice Date: 10/17/95

HECLA MINING COMPANY ROSEBUD PROJECT P.O: BOX 1861 LOVELOCK, NV 89419 ROSEBUD PROJECT

Job:	Unit #'		Terms	Work Date	
329024	LV38		NET 30 DAYS	10/1 TO 10	/2
Qty	Description			Unit \$	Tota1
	HOLE 95-355 NQ 70 DEGREE ANGLE	HOLE			
	O FOOTAGE THIS INVOICE				
	SEE ATTCHED SCHEDULES ON THE FO	LLOWING	G		
38.00	DRILL CREW HOURS			\$95.00	\$3,610.00
1.00	MATERIALS			\$481.36	\$481,36
2.00	WATER TRUCK DAYS			\$175,00	\$350.00
30.00	WATER TRUCK HOURS			\$30.00	\$900.00
11.00	SUBSISTENCE			\$50.00	\$550.00
2.00	SUPERVISOR SUBSISTENCE			\$50.00	\$100.00

On to prof 17 much M

Please remit payment to: 1780 Vernon Street, Suite 3 Roseville, CA 95678 For Inquiries call (801) 295-4238

Total Invoice: \$ 5,991.36

HECLA MINING COMPANY ROSEBUD MINE AUGUST PROJECT BACKUP

DATE	MATERIALS	UNITS	AMOUNT	TOTAL
	HY YIELD BENTONITE	3	\$10.39	\$31.17
	BARRITE	4	\$6.11	\$24.44
	GYPSUM CEMENT (CAL SEAL)	4	\$17.11	\$68.44
12/17	ABANDONITE	4	\$10.39	\$41.56
	NQ CORE BOXES	83	3.55	\$294.65
10/2	CEMENT	2	\$10.55	\$21.10
				\$0.00
			7	\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
7	-			\$0.00
				\$0.00
				\$0.00
THIS SHE	ET REFLECTS BOTH SHIFTS			\$0.00
THO OTIL				\$0.00
				\$0.00
				\$0.00
				\$0.00
	,		0	\$0.00
		100		\$481.36

HECLA MII	NING COMPANY	HOLE 95-3		
ROSEBUD				
AUGUST P	ROJECT BACKUP			
D. T. T.	DECORUPTION	LIGUIDS	PER HR	TOTAL
DATE	DESCRIPTION	HOURS		
10/1	CEMENTING REAMING	8	\$95.00 \$95.00	\$190.00 \$760.00
10/1	CEMETING	10	\$95.00	\$950.00
	CEMENTING	2	\$95.00	\$190.00
10/2	HOLE ABANDONMENT	2	\$95.00	\$190.00
		2	\$95.00	\$190.00
	PULL RODS	2	\$95.00	\$190.00
10/0	SURVEYING	1	\$95.00	\$95.00
10/2	CEMENTING	9	\$95.00	\$855.00
	MOVING		\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
	*		\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	
			\$95.00	
			\$95.00	
			\$95.00	
			\$95.00	
			\$95.00	
			\$95.00	
			\$95.00	V 8 10 40
			\$95.00	
			\$95.00	
			\$95.00	
			\$95.00	
			\$95.00	
THIS FOR	M COMBINES BOTH SHIFTS			
		38		\$3,610.00

HECLA MINING COMPANY
ROSEBUD MINE

AUGUST PROJECT BACKUP

AUGUS	JST PROJECT BACKUP WATER TRUCK DAYS WATER TRUCK HOURS					HOURS	SUBSISTENCE				
DATE	DAYS	AMOUNT	TOTAL	HOURS	PER HR		MEN	AMOUNT	TOTAL		
10/1	1	\$175.00	\$175.00	10	\$30.00	\$300.00	3	\$50.00	\$150.00		
10/1		\$175.00	\$0.00	10	\$30.00	\$300.00	3	\$50.00	\$150.00		
10/2	1	\$175.00	\$175.00	10	\$30.00	\$300.00	3	\$50.00	\$150.00		
10/2		\$175.00	\$0.00	0	\$30.00	\$0.00	2	\$50.00	\$100.00		
		\$175.00	\$0.00		\$30.00	\$0.00		\$50.00	\$0.00		
		\$175.00	\$0.00		\$30.00	\$0.00		\$50.00	\$0.00		
	4	\$175.00	\$0.00		\$30.00	\$0.00		\$50.00	\$0.00		
		\$175.00	\$0.00		\$30.00	\$0.00		\$50.00	\$0.00		
		\$175.00	\$0.00		\$30.00	\$0.00		\$50.00	\$0.00		
		\$175.00	\$0.00		\$30.00	\$0.00		\$50.00	\$0.00		
		\$175.00	\$0.00		\$30.00	\$0.00		\$50.00	\$0.00		
		\$175.00	\$0.00		\$30.00	\$0.00		\$50.00	\$0.00		
		\$175.00	\$0.00		\$30.00	\$0.00		\$50.00	\$0.00		
		\$175.00	\$0.00		\$30.00	\$0.00		\$50.00	\$0.00		
		\$175.00	\$0.00		\$30.00	\$0.00		\$50.00	\$0.00		
		\$175.00	\$0.00		\$30.00	\$0.00		\$50.00	\$0.00		
		\$175.00	\$0.00		\$30.00	\$0.00		\$50.00	\$0.00		
		\$175.00	\$0.00		\$30.00	\$0.00		\$50.00	\$0.00		
		\$175.00	\$0.00		\$30.00	\$0.00		\$50.00	\$0.00		
		\$175.00	\$0.00		\$30.00	\$0.00		\$50.00	\$0.00		
						,					
DAY SH	HIFT AND	O NIGHT SHIF	T COMBINED	ON THIS	S FORM		,				
	2		\$350.00	30		\$900.00	11	1	\$550.00		
						æ			\$1,800.00		

P C EXPLORATION, INC. P. O. Box 870096 Woods Cross, UT 84087-0096 (801) 295-4238 COPY

INVOICE NO: 3131 Page: 1

Invoice Date: 10/09/95

HECLA MINING COMPANY ROSEBUD PROJECT P.O. BOX 1861 LOVELOCK, NV 89419 ROSEBUD PROJECT

Job:	Unit #	Terms	Work Date	
329024	D404	NET 30 DAYS	9/24 TO 9	/30/95
Qt.y	Description HOLE 95-355 70 DEGREE ANGLE NQ		Unit \$	Total
√ 500.00	NQ O TO 500'		\$20.00	\$10,000.00
V 297.00	NQ 500 TO 797'		\$21.00	\$6,237.00
	BACK UP FOR THE FOLLOWING ATTACHED)		
√ 58.00	DRILL CREW HOURS		\$95.00	\$5,510.00
1.00	MATERIALS		\$1,424.88	\$1,424.88
V 69.00	WATER TRUCK HOURS		\$30.00	\$2,070.00
7.00	WATER TRUCK DAYS		\$175.00	\$1,225.00
V42.00	SUBSISTENCE		\$50.00	\$2,100.00
	TAICLLINES EDGEMAN			

1. Ch. 1. 1. 2. St. L. 2. St. L. 2. St. L.

716150-577 Mules V. Much

and the second of the second o

Please remit payment to: 1780 Vernon Street, Suite 3 Roseville, CA 95678 For Inquiries call (801) 295-4238

Total Invoice: \$ 28,566.88

P C EXPLORATION, INC. P. O. Box 870096

Woods Cross, 01 8408/-0 (801) 295-4238

Woods Cross, UT 84087-0096

INVOICE NO: 3131 Page: 1

COPY

most what come come come come what what while other state state and time again their state and a real time and come again and come and and come and

Invoice Date: 10/09/95

HECLA MINING COMPANY ROSEBUD PROJECT P.O. BOX 1861 LOVELOCK, NV 89419 ROSEBUD PROJECT

Job:	Unit #	Terms Wor	k Date	
329024	D404	NET 30 DAYS 9/2	24 TO 9	/30/95
Qty	Description	U	nit \$	Total
	HOLE 95-355 70 DEGREE ANGLE NO			
V 500.00	NQ 0 TO 500'		\$20.00	\$10,000.00
V 297.00	NQ 500 TO 797'		\$21.00	\$6,237.00 /
	BACK UP FOR THE FOLLOWING ATTACHED			
V 58,00	DRILL CREW HOURS		\$95.00	\$5,510.00
1.00	MATERIALS	\$1	424.88	\$1,424.88
v 69.00	WATER TRUCK HOURS		\$30.00	\$2,070.00
7.00	WATER TRUCK DAYS		175.00	\$1,225.00
V42.00	SUBSISTENCE		\$50.00	\$2,100.00
	TNOTHES FOREMAN			

716150-577 Chales V. Markell

and the state of t

Please remit payment to: 1780 Vernon Street, Suite 3 Roseville, CA 95678 For Inquiries call (801) 295-4238

Total Invoice: \$ 28,566.88

HECLA MINING COMPANY ROSEBUD MINE

HOLE 95-355

AUGUST PROJECT BACKUP

A0000		ATER TRUCK		WAT	ER TRUCK	HOURS	SI	JBSISTENCE	
DATE	DAYS	AMOUNT	TOTAL	HOURS	PER HR	TOTAL	MEN	AMOUNT	TOTAL
9/24	1	\$175.00	\$175.00	√ 10	\$30.00	\$300.00	√ 4	\$50.00	\$200.00
9/24		\$175.00	\$0.00		\$30.00	\$0.00	√ 2	\$50.00	\$100.00
9/25	1	\$175.00	\$175.00	√ 8	\$30.00	\$240.00	✓ 4	\$50.00	\$200.00
9/25		\$175.00	\$0.00		\$30.00	\$0.00	√ 2	\$50.00	\$100.00
9/26	1	\$175.00	\$175.00	√ 10	\$30.00	\$300.00	/ 4	\$50.00	\$200.00
9/26		\$175.00	\$0.00		\$30.00	\$0.00	√ 2	\$50.00	\$100.00
9/27	1	\$175.00	\$175.00	√9	\$30.00	\$270.00	√ 4	\$50.00	\$200.00
9/27		\$175.00	\$0.00	√10	\$30.00	\$300.00	√ 3	\$50.00	\$150.00
9/28	1	\$175.00	\$175.00		\$30.00	\$0.00	√ 3	\$50.00	\$150.00
9/28		\$175.00	\$0.00	√10	\$30.00	\$300.00	√ 3	\$50.00	\$150.00
9/29	1	\$175.00	\$175.00	√2	\$30.00	\$60.00	✓ 3	\$50.00	\$150.00
9/29		\$175.00	\$0.00		\$30.00	\$0.00	√ 2	\$50.00	\$100.00
9/30	1	\$175.00	\$175.00		\$30.00	\$0.00	√ 3	\$50.00	\$150.00
9/30		\$175.00	\$0.00	√ 10	\$30.00	\$300.00	√ 3	\$50.00	\$150.00
		\$175.00	\$0.00		\$30.00	\$0.00		\$50.00	\$0.00
		\$175.00	\$0.00		\$30.00	\$0.00		\$50.00	\$0.00
		\$175.00	\$0.00		\$30.00	\$0.00		\$50.00	\$0.00
		\$175.00	\$0.00		\$30.00	\$0.00		\$50.00	\$0.00
		\$175.00	\$0.00		\$30.00	\$0.00		\$50.00	\$0.00
		\$175.00	\$0.00		\$30.00	\$0.00		\$50.00	\$0.00
DAY SH	IIFT AND	NIGHT SHIF	T COMBINED	ON THIS	S FORM		,		
			a						
	7		\$1,225.00	69		\$2,070.00	42		\$2,100.00
					T T				\$5,395.00

HECLA MINING COMPANY ROSEBUD MINE AUGUST PROJECT BACKUP

DATE	MATERIALS	UNITS		AMOUNT	TOTAL
	POLYMER	V/	1	\$75.00	\$75.00
9/25	SODA ASH		1	\$11.27	\$11.27
9/26	POLYMER		11)	\$75.00	\$825.00
9/28	CELLOPHANE	U/	1	\$39.20	\$39.20
	DRILL PAPER	V	1	16.49	\$16.49
9/30	HI YIELD GEL		6	\$6.38	\$38.28
λ	POTASSIUM CHLORIDE		12	\$23.29	\$279.48
	LIQUID DRISPAC		1	129.77	\$129.77
	BENTONITE	V	1	\$10.39	\$10.39
					\$0.00
					\$0.00
					\$0.00
					\$0.00
					\$0.00
					\$0.00
					\$0.00
					\$0.00
					\$0.00
					\$0.00
					\$0.00
					\$0.00
					\$0.00
					\$0.00
					\$0.00
					\$0.00
					\$0.00
					\$0.00
					\$0.00
THIS SHE	ET REFLECTS BOTH SHIFTS				\$0.00
THIS SHE					\$0.00
					\$0.00
					\$0.00
					\$0.00
					\$0.00
	, v		35		\$1,424.88

HECLA MII	NING COMPANY	HOLE 95-3	55	
ROSEBUD		4		
AUGUST P	PROJECT BACKUP			
DATE	DECODIDATION	HOURS	PER HR	TOTAL
DATE	DESCRIPTION	3.5	\$95.00	\$332.50
9/24	CASING MOVE/SET UP	√ 5.5 √5.5	\$95.00	\$522.50
9/25	PULL CASING/HANDLE RODS	√ 2	\$95.00	\$190.00
0/20	HOLE STABILIZATION	/ 2	\$95.00	\$190.00
9/26	HOLE STABILIZATION	√ 2	\$95.00	\$190.00
	HOLE STABILIZATION	2	\$95.00	\$190.00
	HOLE STABILIZATION	5	\$95.00	\$475.00
	HOLE STABILIZATION	· √10	\$95.00	\$950.00
0/20	HOLE STABILIZATION	√ 6	\$95.00	\$570.00
	HOLE STABILIZATION	√ 10	\$95.00	\$950.00
	HOLE STABILIZATION	/ 10	\$95.00	\$950.00
	TIOLE OF ABILIZATION	, , ,	\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
		8	\$95.00	
			\$95.00	\$0.00
THIS FOR	M COMBINES BOTH SHIFTS			¢5 540 00
		58		\$5,510.00

A Division Of	A Division Of P.C. Exploration DAILY TIME REPORT											
CONTRACT NAME RO	se bu	d				JOB NO 329024		100	6/6	(e)	1/4 /	1/4 / C
DATE 9/24/	95	# h		DAY	2			1	1 5	10	1	
	355		14	AFTE	RNOON []				5/	Solar	6	501
SIZE NO		NGLE	700	NIGH	-т 🗆		/ 8	0/ N	* N	3	The state of the s	*
5121			FROM	TO	FEET	OPERATION	DRILL		HOURS			70
CORING						CORING	HOURS					
CORING (WEDGE)						CORE (WEDGE)			10		1	
OVERBURDEN			B	29	29	OVERBURDEN CASIC A	35	33	10		7. 7	
DRILL CEMENT			0	OC 7	027	CEMENT/DRILL CEMENT	manual and)				
REAM CASING						REAMING					T 0 1	
A STATE OF THE STA					1	HOLE STABILIZING				W		
WATER LINES: DISTANCE	E	FT.	LIFT	11111	FT.	WATER LINES					3/2/3	7
DOWN HOLE EQUIPMENT	TYPE	SIZE	FROM	TO	FRET	MOVING	1	1				
BIT # DIA Set	CASIE	Hw	0	29	20	SETTING UP/TEAR DOWN	45	43				
BIT#	1	17 -0		9		MOB/DEMOB (TRUCKLOAD)		1				
BIT #		341-14		- KESSESS		MOB/DEMOB (1 st Hole/Last Hole)						
SHELL #			918 74		The state	TRUCK DRIVING				- 1		
CASING SHOE #			3 - 3					- 1			4 4	
CORE BARREL			Cald II			OTHER (Explain)						
OTHER EQUIPMENT												
UNIT	HOURS	Liying	REN	LARKS		TRACTOR DRIVING					2 11 1	
TRACTOR	100			W 1 1		WATER TRUCK DRIVING			10	10	E GOT	
WATER TRUCK	2	24	oods			REPAIRS & MAINT.						
OTHER						TRAVEL	1	1	1	1		
ACID TEST DEPTHS						ACID TESTING						
SURVEY DEPTHS						SURVEYING		13	42)			
						TOTAL HOURS	*	10	11	11		
GENERAL COMMENTS:												
											Jul.	
			Night.						9			
											100	
					The state of		-					
QUANT.	ITEA	as consua	MED		APPROV	AL QUANT.	ITEMS C	ONSUM	ED			APPROVAL
			LA							- 1		
									Salt.			
4	1 /1	All	200		(1) (4)							
CUSTOMER	Juny 1	· Pal				COMPANY	1	72.11				

A Division Of P.C. Exploration DAILY TIME REPORT JOB NO 329024 DAILY TIME REPORT JOB NO 329024 DAY HOLE NO 355 AFTERNOON D SIZE NIGHT DAILY TIME REPORT JOB NO 329024 DAY AFTERNOON D SIZE NIGHT DAILY TIME REPORT JOB NO 329024 DAY JOB NO 329024 DAY													
CONTRACT NAM	4E (2msel	bise				108 NO 329024		/ 1	8	3	3	
DATE	9-2	4-98	-		DAY		,00,10	*.	12	/ 5	7		
HOLE NO	355	-			AFTF	RNOON []			V	4	1		
SIZE								/ 6	ON THE SE	2	3	*	इँ
5120				FROM	TO	FEET	OPERATION	DRILL		HOURS	HOURS	HOURS	
CON110					89		CORING	HOURS		7 2 2			
CORING	OF)			28	01	61	CORE (WEDGE)	10					X 4 ² .1
CORING (WEDO	GEI						OVERBURDEN		198		1.4		
OVERBURDEN							CEMENT/DRILL CEMENT		1				
DRILL CEMENT							REAMING						
REAM CASING							HOLE STABILIZING			251			
	DISTANCE		CT	HET		FT.	WATER LINES		- 14				
WATER LINES:	- I			FROM	TO	FEET	MOVING						
DOWN HOLE EC	V 42 7 1 1	TYPE	SIZE	28	10	1561	SETTING UP/TEAR DOWN			4			
BIT # L516	2-8		÷	20			MOB/DEMOB (TRUCKLOAD)						
BIT #						Mary Charles	MOB/DEMOB (1st Hole/Last Hole)				1.8		
BIT #	TRUCK DRIVING												
SHELL #							TROCK DRIVING	100					
CASING SHOE	*						OTHER (Explain)						
CORE BARREL	IENIT						Office (Explain)		T ST				
OTHER EQUIPM		HOURS		DEM	ARKS		TRACTOR DRIVING		1 2				
TRACTOR		HOOKS		Kerre			WATER TRUCK DRIVING						
WATER TRUCK					1.7		REPAIRS & MAINT.						
OTHER TROCK							TRAVEL	1				19.1	
ACID TEST DEPT	THS						ACID TESTING						
SURVEY DEPTHS					1		SURVEYING	NI P					1 8-2 -
SURVET DEFINS	•						TOTAL HOURS	11					
		0.	11	orran 1	21.	11-		111	- 3				
GENERAL COM	MENTS:	1361	11 M	nec	ZNES	getti	ny fined back up		-				
			7										
												T.	
								-		35-5			
QUANT ITEMS CONSUMED APPROVAL QUANT. ITEMS CONSUMED APPR											APPROVAL		
1	5 90			7	100	0							
	2 90	llon	13011	bolh	uet							114	1 3 1 7 4
		4.3	(N)										
7			- 4							- 1			
CUSTON	MED V	1	X X	1000			COMPANY						

COATES DRILLING, INC. A Division Of P.C. Exploration DAILY TIME REPORT 108 NO 325024 DAY AFTERNOON I NIGHT ANGLE FROM 10 FEET **OPERATION** CORING CORING CORE (WEDGE) CORING (WEDGE) OVERBURDEN OVERBURDEN CEMENT/DRILL CEMENT DRILL CEMENT REAMING Pall CAS 29 REAM CASING HOLE STABILIZING WATER LINES FT. FT. WATER LINES! DISTANCE FEET MOVING 10 TYPE SIZE FROM DOWN HOLE EQUIPMENT SETTING UP/TEAR DOWN BIT # MOB/DEMOB (TRUCKLOAD) BIT # MOB/DEMOB (1st Hole/Last Hole) BIT # TRUCK DRIVING SHELL # CASING SHOE # OTHER (Explain) CORE BARREL Haudly OTHER EQUIPMENT TRACTOR DRIVING HOURS REMARKS UNIT WATER TRUCK DRIVING TRACTOR REPAIRS & MAINT. WATER TRUCK TRAVEL OTHER ACID TESTING ACID TEST DEPTHS SURVEYING SURVEY DEPTHS TOTAL HOURS READ CLOWN APPROVAL APPROVAL QUANT. ITEMS CONSUMED QUANT ITEMS CONSUMED

CUSTOMER Sut D. Allo

COMPANY

A Division	A Division Of P.C. Exploration DAILY TIME REPORT ONTRACT NAME ROSE 600 DAY OLE NO 355 AFTERNOON DAY AFTERNOON DAY ONTRACT NAME ROSE 600 DAY OLE NO 355 AFTERNOON DAY ONTRACT NAME REPORT												
CONTRACT NAME	Re	seb	be				JOB NO 329024		10	00/	500	5/	
CONTRACT NAME	7-25	-95			DAY			,	1	(%)	1 8	/	
HOLE NO	355	-				RNOON []				8/1	7		
SIZE		A	NGLE	70	NIGH				N/1 3	* **	* × ×	3	3
5122				FROM	TO	FEET	OPERATION	DRILL				HOURS	
CORING				130	1142	112	CORING	10					
CORING (WEDG	E)			•	4 1	1100	CORE (WEDGE)					2 "	
OVERBURDEN	7-14						OVERBURDEN						
DRILL CEMENT		1.17					CEMENT/DRILL CEMENT					19 14 19	
REAM CASING							REAMING			27			
		9			1		HOLE STABILIZING						
WATER LINES:	DISTANCE		FT.	LIFT		_ FT.	WATER LINES						
DOWN HOLE EQ	UIPMENT	TYPE	SIZE	FROM	TO	FEET	MOVING						
BIT #	31 3						SETTING UP/TEAR DOWN	* *					
BIT #		A :					MOB/DEMOB (TRUCKLOAD)		1		- J		
BIT #							MOB/DEMOB (1 st Hole/Last Hole)					- 1	
SHELL# TRUCK DRIVING													
CASING SHOE #								r i					
CORE BARREL							OTHER (Explain)) et :					
OTHER EQUIPME	NT												
UNIT		HOURS		REM	ARKS		TRACTOR DRIVING						70 68 4
TRACTOR		H. C					WATER TRUCK DRIVING					10.14	
WATER TRUCK							REPAIRS & MAINT.	-				100	
OTHER							TRAVEL	1					
ACID TEST DEPTH	15			The last			ACID TESTING		1				
SURVEY DEPTHS							SURVEYING						
							TOTAL HOURS	111	1 1				77.7
GENERAL COMM	NENTS:												
				114					: 15				
											-		
QUANT			IS CONSUM			APPROV	AL QUANT.	ITEMS C	ONSUM	ED			APPROVAL
	bas	g 50	da F	754									
		100	10 A			a part							
			A LOUI					1	< 100				
				بلخاني						-			
CUSTOM	50	1	x 4	100-			COMPANY						

COATES DRILLING, INC. A Division Of P.C. Exploration DAILY TIME REPORT JOB NO 329024 AFTERNOON I NIGHT ANGLE FEET **OPERATION** 10 FROM 70 CORING CORING CORE (WEDGE) CORING (WEDGE) OVERBURDEN OVERBURDEN CEMENT/DRILL CEMENT DRILL CEMENT REAMING 38 REAM CASING HOLE STABILIZING WATER LINES FT. LIFT WATER LINES: DISTANCE FEET MOVING 10 DOWN HOLE EQUIPMENT SIZE FROM SETTING UP/TEAR DOWN BIT # MOB/DEMOB (TRUCKLOAD) BIT # MOB/DEMOB (1 st Hole/Last Hole) BIT # TRUCK DRIVING SHELL # CASING SHOE # OTHER (Explain) CORE BARREL OTHER EQUIPMENT HOURS REMARKS TRACTOR DRIVING UNIT WATER TRUCK DRIVING TRACTOR REPAIRS & MAINT. 2 Londs WATER TRUCK TRAVEL OTHER ACID TESTING ACID TEST DEPTHS SURVEYING SURVEY DEPTHS TOTAL HOURS GENERAL COMMENTS: APPROVAL QUANT. ITEMS CONSUMED APPROVAL ITEMS CONSUMED QUANT. COMPANY_

COATE				ITAC	i, 1	NC.					7	
A Division Of I	P.C. Ex	plora	tion		DAILY	TIME REPORT			· /	/	S	///
						JOB NO 329024			of	A Low	7	/-/-
CONTRACT NAME RO	sebo	_ لهد						/ 1	7/	7	7	/ /
DATE 9-20	5-95	>		DAY	3		/	W/	29	7		
HOLE NO 355			A1	y - 1 - 5	RNOON []			00/ 12/ 12/ 12/ 12/ 12/ 12/ 12/ 12/ 12/ 12	W X	- Jan	*	4
SIZE N	A	NGLE	10	_ NIGH	HT 🔯						2	<u> </u>
			FROM	TO	FEET	OPERATION :	HOURS	HOURS	HOURS	HOURS	HOURS	
CORING						CORING	9			1		
CORING (WEDGE)			312	451	139	CORE (WEDGE)	b 2	- 2 1				
OVERBURDEN						OVERBURDEN			27 12 14			
DRILL CEMENT						CEMENT/DRILL CEMENT		.= ;	+ 3		1.4	
REAM CASING						REAMING					114	
	dia k					HOLE STABILIZING	1	Ser The				
WATER LINES: DISTANCE	17.13	FT.	LIFT		_FT.	WATER LINES	2					
DOWN HOLE EQUIPMENT	TYPE	SIZE	FROM	TO	FEET	MOVING						
BIT #						SETTING UP/TEAR DOWN	N 11	75		100		
BIT #		blety			W.	MOB/DEMOB (TRUCKLOAD)	146			V-10		
BIT #						MOB/DEMOB (1 st Hole/Last Hole)		V. 18				
SHELL # TRUCK DRIVING												
CASING SHOE #												
CORE BARREL						OTHER (Explain)			TE			
OTHER EQUIPMENT									191	1		
UNIT	HOURS		REM	LARKS		TRACTOR DRIVING			The same of	15.0	Ass - Li	
TRACTOR						WATER TRUCK DRIVING	1:17					
WATER TRUCK						REPAIRS & MAINT.			T. Oak	15		
OTHER				1119		TRAVEL	1					
ACID TEST DEPTHS		E 1977			Nation.	ACID TESTING						
SURVEY DEPTHS						SURVEYING				F	1.61	
						TOTAL HOURS	11					
GENERAL COMMENTS:		47										
	***	J. Fil									3 7 %	
		X Ay									ng sali	
											- 31	
QUANT	ITEA	as consu	MED		APPROV	/AL QUANT.	ITEMS C	ONSUM	ED			APPROVAL
					13711							
						Line Land of the Land of						
The state of the s	51		1111									
CUSTOMER	Zunt	1 7	Mon)		COMPANY						
	4											

FROM TO FEET OPERATION DRILL HOURS HOURS HOURS CORING CORING (WEDGE) CORE (WEDGE)	COATE	SI	DR		INC	i, 1	NC.		,			N)	
ON NO. 327024 ART 9 20 195 DAY AT ENDON 10 AFROM 10 FROM 10	A Division Of	P.C. E	kplora	tion		DAILY	TIME REPORT			,	159	1.5/	105 14
APERIADO DO PERTIDO DE STANCE TO FERT OPERATION DOUBLE HOUSE	0	1.	1	1						h	6/1	2/1	12 / Ju
ANGLE PO NICHT TO PERT OPERATION OF FROM TO FEET OPERATION OF PERT OPERATION OF PERT OPERATION O	1/2/	se VI	10	1 - 2 - 17 - 1 *					10	1	79	\\ \\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\	1
ANGLE PROM TO FEET OPERATION OF HOURS MOURS MOUR	1/10	15			DAY	A		/	3/	1-5/	000/	000	OPX
FION	HOLE NO 95 - 3	55		000	AFTE	RNOON I			8/	W / W	Ne Ne	*	*
CORING CORNING WEDGE CORRESPONDED CORRESPOND	SIZE VQ	A	NGLE	10_	NIGH	-i □			2	3/ 3	3/ 3	3/ 3	
CORING (WEDGE) OVERBURDEN OVERBURDEN CORE (WEDGE) OVERBURDEN CORE MEDGE) OVERBURDEN REAMING REAMING WATER LINES DISTANCE FIT UIT FIT WATER LINES DOWN HOUR EQUIPMENT WATER LINES SETTING UP/TEAR DOWN MONING SETTING UP/TEAR DOWN MOR/DENGE (TRUCKICAD) BIT # MOR/DENGE (TRUCKICAD) JECUTOR DISTANCE TRACTOR DRIVING OTHER (Exignal) OTHER (Exignal) OTHER (Exignal) TRACTOR DRIVING OTHER (Exignal) TRACTOR DRIVING OTHER (Exignal) OTHER (Exignal) TRACTOR DRIVING OTHER (Exignal) OTHER (Exignal				FROM	10	FEET	OPERATION	HOURS	HOURS	HOURS	HOURS	HOURS	
OVERBURDEN OVERBURDEN CEMENT/ORBL CEMENT REAMING REAMING WATER LINES DISTANCE FT UFT FT WATER LINES DOWN HOUR EQUIPMENT TYPE SIZE ROM TO FEET MODIFIER DOWN BIT # BIT # MOD FEET MODIFIER DOWN MOD FOEMOR FRUCKICADI MOD FEET MO	CORING			451	562	111	CORING	9	9	9			
CEMENT/DRIL CEMENT REAM CASING WATER LINES DISTANCE FI. LIFT FT. WATER LINES DOWN HOLD EQUIPMENT TYPE SIZE FROM TO FEET MORE LONG SETTING UP/FEAR DOWN MOR / DEAGE 151 Hole/Loss Model BIT # MOR / DEAGE 151 Hole/Loss Model TRUCK DRIVING OTHER (Explain) OTHER (Explain) OTHER (Explain) OTHER REQUIPMENT TRACTOR WATER TRUCK REPAIRS & MAINT! TRACTOR WATER TRUCK OTHER GENERAL COMMENTS WATER TRUCK REPAIRS & MAINT! TRACTOR SURVEY DEPTHS SURVEY DEPTHS GENERAL COMMENTS TOTAL HOURS OTHER CONSUMED APPROVAL GENERAL COMMENTS OTHER CONSUMED APPROVAL OTHER	CORING (WEDGE)				in agentu		CORE (WEDGE)				1		
REAMING WATER UNES: DISTANCEFT UFTFT WATER UNES: DOWN HOLE EQUIPMENT TYPE SIZE FROM TO FEET MOVING BIT # SETTING UP/EAR DOWN MORPDEWOR (RUCKICAD) MORPDEWOR (RUCKICAD) SHELL # ROME OF THE (Explain) CASING SHOE # CORE BARREL OTHER (Explain) UNIT HOURS REMARKS TRACTOR DRIVING WATER TRUCK REPAIRS & MAINT TRAVEL ACID TEST DEPTHS SURVEY DEPTHS SURVEY DEPTHS GENERAL COMMENTS GENERAL	OVERBURDEN						OVERBURDEN			4 1			
WATER LINES DISTANCE FT UFT FT WATER LINES DOWN HOLE EQUIPMENT TYPE SIZE FROM TO FEET MOVING BIT # MOVING BIT # MOVING BIT # MOVING BIT # MOVING ITEL MOVIN	DRILL CEMENT						CEMENT/DRILL CEMENT					9:11	
WATER LINES DISTANCE FT UFT FT WATER UNES DOWN HOLE RQUIPMENT TYPE SIZE FROM TO FRET MOVING BIT # SETTING UP/FEAR DOWN MOB/DEMOR PRUCKCOAD) BIT # MOR/DEMOR PRUCKCOAD) BIT # MOR/DEMOR PRUCKCOAD) BIT # MOR/DEMOR PRUCKCOAD) CASING SHOE # MOR/DEMOR PRUCKCOAD) CASING SHOE # MOR/DEMOR PRUCKCOAD) TRUCK DRIVING CASING SHOE # MOR/DEMOR PRUCKCOAD) TRUCK DRIVING OTHER EQUIPMENT TRACTOR WATER TRUCK DRIVING TRACTOR DRIVING TRACTOR DRIVING Q MATER TRUCK DRIVING Q MATER TRUCK DRIVING TRACTOR DRIVING GENERAL COMMENTS TOTAL HOURS OUANT ITEMS CONSUMED APPROVAL APPROVAL APPROVAL APPROVAL APPROVAL	REAM CASING						The state of the s						
DOWN HOLE EQUIPMENT TYPE SIZE FROM TO FRET MOVING BIT # SETTING UP/TEAR DOWN BIT # MOR/DEMOR (REUCKLOAD) BIT # MOR/DEMOR (REUCKLOAD) BIT # MOR/DEMOR (REUCKLOAD) BIT # TRUCK DRIVING CASING SHOE # OTHER (Explain) CHERE EQUIPMENT UNIT MOURS REMARKS TRACTOR DRIVING WATER TRUCK REPAIRS & MAINT TRACE OTHER ACID TEST DEPTHS SURVEY DEPTHS TOTAL HOURS QUANT ITEMS CONSUMED APPROVAL GUANT ITEMS CONSUMED APPROVAL GUANT ITEMS CONSUMED APPROVAL GUANT ITEMS CONSUMED APPROVAL						1	HOLE STABILIZING Mud	1	1	1	1		
SETTING UP/TEAR DOWN BIT # MOB/DEMOB (TRUCKLOAD) BIT # MOB/DEMOB (TRUCKLOAD) SHELL # TRUCK DRIVING CASING SHOE # DITECTION CASING SHOE # DITECTION CASING SHOE # DITECTION UNIT HOURS REMARKS TRACTOR DRIVING WATER TRUCK DRIVING WATER TRUCK DRIVING PEPAIRS & MAINT TRACTOR WATER TRUCK DRIVING WATER TRUCK DRIVING SEPAIRS & MAINT ACID TEST DEPTHS SURVEY DEPTHS SURVEY DEPTHS GENERAL COMMENTS FOR ALL OWNERDS TOTAL HOURS GENERAL COMMENTS PART JULY DEPTHS GENERAL COMMENTS GENERAL COMMENTS GENERAL COMMENTS PART JULY DEPTH DE	WATER LINES: DISTANCE	E	FT.	LIFT		FT.	WATER LINES		1	2 37 1	1 8 8		
BIT # MOB/DEMOB (TRUCKICAD) BIT # MOB/DEMOB (TS HOLE) SHELL # TRUCK DRIVING CASING SHOE # OTHER (Explain) CASING SHOE # OTHER (Explain) TRACTOR BARREL OTHER EQUIPMENT UNIT HOURS REMARKS TRACTOR DRIVING WATER TRUCK REPAIRS & MAINT TRAYEL ACID TESTING SURVEY DEPTHS SURVEY DEPTHS GENERAL COMMENTS GENERAL CONSUMED APPROVAL GUANT ITEMS CONSUMED APPROVAL GUANT ITEMS CONSUMED APPROVAL APPROVAL APPROVAL GUANT ITEMS CONSUMED APPROVAL APPROVAL APPROVAL GUANT ITEMS CONSUMED APPROVAL	DOWN HOLE EQUIPMENT	TYPE	SIZE	FROM	TO	FEET	MOVING			3 7 2			
BIT # MOB/DEMOB (1st Hole/Last Hole) SHELL # TRUCK DRIVING CASING SHOE # OTHER (Explain) OTHER EQUIPMENT UNIT HOURS REMARKS TRACTOR DRIVING WATER TRUCK DRIVING WATER TRUCK DRIVING WATER TRUCK DRIVING OTHER TRAVEL ACID TESTING SURVEY DEPTHS SURVEY DEPTHS GENERAL COMMENTS QUANT ITEMS CONSUMED APPROVAL QUANT ITEMS CONSUMED APPROVAL QUANT ITEMS CONSUMED APPROVAL QUANT ITEMS CONSUMED APPROVAL APPROVAL GUANT ITEMS CONSUMED APPROVAL APPROVAL APPROVAL APPROVAL GUANT ITEMS CONSUMED APPROVAL APPROVAL APPROVAL APPROVAL GUANT ITEMS CONSUMED APPROVAL AP	BIT#			18 Sept. 18			SETTING UP/TEAR DOWN	1		122			
SHELL # TRUCK DRIVING CASING SHOE # OTHER (Explain) CHER GUIPMENT UNIT HOURS REMARKS TRACTOR DRIVING WATER TRUCK DRIVING WATER TRUCK REPAIRS & MAINT OTHER TRAVEL ACID TEST DEPTHS SURVEY DEPTHS SURVEY DEPTHS GENERAL COMMENTS GENERAL COMMENTS QUANT ITEMS CONSUMED APPROVAL APPROVAL GUANT TRANS CONSUMED APPROVAL APPROVAL APPROVAL APPROVAL	BIT #						MOB/DEMOB (TRUCKLOAD)						
CASING SHOE # CORE BARREL OTHER EQUIPMENT UNIT HOURS REMARKS TRACTOR DRIVING WATER TRUCK DRIVING PREPAIRS & MAINT OTHER TRAVEL ACID TEST DEPTHS SURVEY DEPTHS SURVEY DEPTHS GENERAL COMMENTS: QUANT ITEMS CONSUMED APPROVAL QUANT ITEMS CONSUMED APPROVAL QUANT ITEMS CONSUMED APPROVAL	BIT #						MOB/DEMOB (1 st Hole/Last Hole)	1		6. 3./34			
CORE BARREL OTHER (Explain) UNIT HOURS REMARKS TRACTOR DRIVING WATER TRUCK DRIVING WATER TRUCK REPAIRS & MAINT TRAVEL OTHER TRAVEL ITRAVEL I	SHELL #	The state of the s					TRUCK DRIVING	海邊	Man a				
OTHER EQUIPMENT UNIT HOURS REMARKS TRACTOR WATER TRUCK DRIVING PREPAIRS & MAINT: OTHER ACID TEST DEPTHS ACID TESTING SURVEY DEPTHS SURVEY DEPTHS GENERAL COMMENTS FURST GENERAL COMMENTS QUANT ITEMS CONSUMED APPROVAL APPROVAL GUANT TEMS CONSUMED APPROVAL APPROVAL APPROVAL	CASING SHOE #									Parkle.			The Shake Sh
TRACTOR WATER TRUCK DRIVING WATER TRUCK ORVING WATER TRUCK ORVING REPAIRS & MAINT: TRAVEL ACID TEST DEPTHS ACID TESTING SURVEY DEPTHS SURVEY DEPTHS TOTAL HOURS GENERAL COMMENTS QUANT ITEMS CONSUMED APPROVAL APPROVAL GUANT TEMS CONSUMED APPROVAL AP	CORE BARREL	4					OTHER (Explain)			1. 接着			
TRACTOR WATER TRUCK ORIVING REPAIRS & MAINT OTHER TRAVEL ACID TEST DEPTHS ACID TESTING SURVEY DEPTHS SURVEY DEPTHS TOTAL HOURS GENERAL COMMENTS QUANT ITEMS CONSUMED APPROVAL APPROVAL GUANT ITEMS CONSUMED APPROVAL APPROVAL APPROVAL APPROVAL	OTHER EQUIPMENT												
WATER TRUCK CTHER TRAVEL ACID TEST DEPTHS ACID TESTING SURVEY DEPTHS SURVEY DEPTHS TOTAL HOURS OF NEAR COMMENTS QUANT ITEMS CONSUMED APPROVAL QUANT ITEMS CONSUMED APPROVAL APPROVAL	UNIT	HOURS		REM	LARKS		TRACTOR DRIVING						
OTHER TRAVEL ACID TEST DEPTHS ACID TESTING SURVEYING TOTAL HOURS GENERAL COMMENTS QUANT ITEMS CONSUMED APPROVAL QUANT ITEMS CONSUMED APPROVAL APPROVAL APPROVAL	TRACTOR						WATER TRUCK DRIVING				9		
ACID TEST DEPTHS SURVEYING TOTAL HOURS GENERAL COMMENTS: QUANT ITEMS CONSUMED APPROVAL QUANT. ITEMS CONSUMED APPROVAL GUANT. ITEMS CONSUMED APPROVAL APPROVAL	WATER TRUCK			THE			REPAIRS & MAINT						
SURVEY DEPTHS SURVEYING TOTAL HOURS GENERAL COMMENTS PLEMP Mud RTS + FILLENTA New Mud GUANT ITEMS CONSUMED APPROVAL QUANT. ITEMS CONSUMED APPROVAL	OTHER	Vet:					TRAVEL		1	1	1		
GENERAL COMMENTS. Pump Mud RTS + Fill with New Mud QUANT ITEMS CONSUMED APPROVAL QUANT. ITEMS CONSUMED APPROVAL GENERAL COMMENTS. APPROVAL APPROVAL APPROVAL	ACID TEST DEPTHS						ACID TESTING						
GENERAL COMMENTS: Pump Mud RTS + Fill with New Mud QUANT ITEMS CONSUMED APPROVAL QUANT. ITEMS CONSUMED APPROVAL GLANDS APPROVAL	SURVEY DEPTHS		Mark to				SURVEYING						
QUANT ITEMS CONSUMED APPROVAL QUANT. ITEMS CONSUMED APPROVAL							TOTAL HOURS	10	11	11	11		
QUANT ITEMS CONSUMED APPROVAL QUANT. ITEMS CONSUMED APPROVAL	GENERAL COMMENTS:	Que un	0 1/	lud 1	RITS	+ F	Manta Men		ud	E.F.			
QUANT ITEMS CONSUMED APPROVAL QUANT. ITEMS CONSUMED APPROVAL	OLIVERAL COMMENTS.	1 am	1										
QUANT ITEMS CONSUMED APPROVAL QUANT. ITEMS CONSUMED APPROVAL												1	
GIN AM									44.			19	
GIN AM				17.				145					
CUSTOMER AND COMPANY	QUANT.	ITEA	AS CONSUI	MED		APPROV	AL QUANT.	ITEMS C	ONSUM	ED			APPROVAL
CUSTOMER AND COMPANY										- 1/4			
CUSTOMER AND COMPANY													
CUSTOMER AND COMPANY								7.74					
CUSTOMER AND COMPANY													
CUSTOMER XXXX X XXXXX COMPANY		(1.0						ez 1 "			
	CUSTOMER	Zut	17	100)		COMPANY		S.				

泰切

A Division Of P.C. Exploration DAILY TIME REPORT CONTRACT NAME ROCE DUD DAY DAY AFTERNOON AFTER													9/
CONTRACT NAM	F Ro	ocebu	60				108 NO 329024		/	of	9	9	3/
DATE	9	かつ	-		DAY				100	9 19	3	The Park	7 /
HOLE NO	-	55				RNOON []			Y	87	8	H	
SIZE	J	A	NGLE	70	NIGH	нт ф		/ 8	0 1 N	* N	* N	A ST	\$
				FROM	TO	FEET	OPERATION :		HOURS			HOURS	
CORING				562	682	120	CORING	9	0	9			
CORING (WEDO	GE)			000	000		CORE (WEDGE)						
OVERBURDEN							OVERBURDEN	14.5					
DRILL CEMENT					Auto		CEMENT/DRILL CEMENT						
REAM CASING	7,152						REAMING					- 1911	
PERMIT							HOLE STABILIZING	1	-	denne			
WATER LINES:	DISTANCE		FT.	LIFT	得 扩 。	FT.	WATER LINES						
DOWN HOLE EQ	UIPMENT	TYPE	SIZE	FROM	TO	FRET	MOVING					57	
BIT #							SETTING UP/TEAR DOWN						
BIT #			W. Fr				MOB/DEMOB (TRUCKLOAD)				1		
BIT #							MOB/DEMOB (1 st Hole/Last Hole)						
SHELL#					1.14		TRUCK DRIVING Waterest	4, 11			10	70	
CASING SHOE	#				di T					17.			
CORE BARREL					1772		OTHER (Explain)						
OTHER EQUIPMI	ENT										1		
UNII		HOURS		REM	ARKS		TRACTOR DRIVING				15:		
TRACTOR							WATER TRUCK DRIVING					1 89 1	(e. 1333.1
WATER TRUCK							REPAIRS & MAINT.						
OTHER							TRAVEL		1	1	1		
ACID TEST DEPT	HS				A STATE OF		ACID TESTING						
SURVEY DEPTHS							SURVEYING	1				3 1 3	
							TOTAL HOURS	11	11	11	11		
GENERAL COM	MENTS:	los	t net	un F	ich on	shipe	not back full						
													<u> </u>
		Maria de la compansión de				1							
								-					
QUANT		ITEA	IS CONSU	MED		APPROV	AL QUANT.	ITEMS C	ONSUM	ED			APPROVAL
GOAINI	,	7											Taranta taly
	Loa	d w	यास-									1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 -	
	11111												Ser.
						- T							
11:37:54	_	4	11 .	100	1								

COA	D	SI	DRI	بابا	INC	i, I	NC.				4	12)
A Division	A Division Of P.C. Exploration DAILY TIME REPORT												
			1	1					/6	3/1	24	7/1	2/
CONTRACT NAME			buc	d			108 NO 32 902 Y		10	/	1/ -	1	/ /
DATE 9/0		95			DAY	2			/	1/2/	5	25/	
HOLE NO 9	5 5	33	,	210	-	RNOON I			2/2/2	4		4/	w/
SIZE	NQ	A	NGLE	10	NIGH	1							/
				FROM	10	FEET	OPERATION :	DRILL	HOURS		HOURS	HOURS	
CORING				682	742	60	CORING	17	7	7			
CORING (WEDGE	E)						CORE (WEDGE)						
OVERBURDEN							OVERBURDEN			-		1 10	
DRILL CEMENT							CEMENT/DRILL CEMENT		100				
REAM CASING						1, 1	REAMING	-					4211.3
	HOLE STABILIZING 2 1												
WATER LINES: DISTANCEFT. LIFTFT. WATER LINES													
DOWN HOLE EGI	JIPMENT	TYPE	SIZE	FROM	10	FRET	MOVING					117	
BIT #				Contract Con	W.7 YE		SETTING UP/TEAR DOWN						
BIT #							MOB/DEMOB (TRUCKLOAD)	3.7		70.00			
BIT #	BIT # MOB/DEMOB (1 st Hole/Last Hole)												
SHELL #						2500	TRUCK DRIVING			300			
CASING SHOE #			the state										
CORE BARREL													
OTHER EQUIPMEN	NT				Fr.			Sax					
UNIT		HOURS		REM	LARKS		TRACTOR DRIVING	1 1					
TRACTOR					101		WATER TRUCK DRIVING				1.2		
WATER TRUCK							REPAIRS & MAINT	/	1	1			
OTHER					Sign A		TRAVEL		1	1			
ACID TEST DEPTH	IS						ACID TESTING						
SURVEY DEPTHS						1 177	SURVEYING						3
							TOTAL HOURS	10	11	11			
GENERAL COMM	ENTS:	NO	CII	culo	non	680	2 - Rump Cell	oph.	A-V	4	Dag-	a	
Los	st i	+ +	190	10 7	105	Hu-	np Agains						
													MARKAGE
				Park Se								-	
QUANT		ITEA	AS CONSU	MED		APPROV	AL QUANT.	ITEMS C	ONSUM	ED			APPROVAL
1	1 CELL ophore												
/	Dr.	1 P	2005	-				r					
		11.1	: /	hull	0	1							
CUSTOM	ER C	mari	un	WUM	11	1	COMPANY					kan en	A CONTRACTOR OF THE PARTY OF TH

A Division Of	P.C. E	xplora	tion		DAILY	TIME REPORT			/	/	>/	3	200	
CONTRACT NAME	Roseh	60			grafika i	JOB NO 379	1024		10	b/ "	No si	9	3	/-
DATE 9-				DAY				/	1	19	4	1 3	7	
HOLE NO 35			Í+	AFTE	RNOON []				0/	4	8	H		
			70°	NIGH	н Б			100	2/2	3	3	The state of the s	**	
			FROM	TO	FEET	OPERAT	TION	DRILL		HOURS	HOURS	HOURS		
CORING			747	795	755	CORING		7	7	7	7			
CORING (WEDGE)	L. B.L.					CORE (WEDGE)			in the					-
OVERBURDEN						OVERBURDEN								
DRILL CEMENT						CEMENT/DRILL CEM	MENT							
REAM CASING	1. 1.		2.11			REAMING								
				7.1		HOLE STABILIZING		3	3	3				
WATER LINES: DISTAN	ICE	FT.	LIFT	3	_ FT.	WATER LINES			100	attye?				134
DOWN HOLE EQUIPMEN	TYPE	SIZE	FROM	TO	FEET	MOVING		- 9 4 1						
BIT #			R. Sale	To Proper		SETTING UP/TEAR D	NWO							
BIT #						MOB/DEMOB (TRU	CKLOAD)	1				WEY.		11
BIT #						MOB/DEMOB (1st)	Hole/Last Hole)							
SHELL #	1		- 1			TRUCK DRIVING	waterect			1 11	10		ITAL	
CASING SHOE #	1 1 4 4 4 1	7 - 3 - 3							711					
CORE BARREL				1 1		OTHER (Explain)			1	1				Yet
OTHER EQUIPMENT			lay as			in A		11	Î.	and the second			. × 1	130
UNIT	HOURS	1. 1.	REM	ARKS		TRACTOR DRIVING	Spring of the							
TRACTOR						WATER TRUCK DRIV	ING				1 3 1			311
WATER TRUCK		To a find				REPAIRS & MAINT.								1-1-02
OTHER		11.5				TRAVEL		1	11	1	1			THE '
ACID TEST DEPTHS						ACID TESTING		. =.		1				
SURVEY DEPTHS	100					SURVEYING								
						TOTAL HOURS		11	11	11	11			
GENERAL COMMENTS:	1/0	ct n	eturn	3+	imes -	- Hewit	outa	agin	no	ret	urn	at	end o	Fshi
	4 44		S. V. K.A.				00 (J			Y		- L Kall	
	The state of the s				te Pro									4
					Bar.									
A CHILDRE														
QUANT	ITE	MS CONSU	MED		APPROV	AL QUANT.	e e	ITEMS C	ONSUM	D			APPRO	DVAL
1 1	oad u	rater	- 1								1			
				7.										
					William									
			11 191										Luis I	
	11	1.	1	100	1									
CUSTOMER	Charl	ies	luera	for		COMPANY_							- 514	

COA	TE	SI	DR		INC	7, 1	NC.				C	er,	. 1		
A Division	n Of I	P.C. Ex	kplora	tion		DAILY	TIME REPORT			/	20/	18	RI 1		
	0)	1							1)e/.	10	18/		
CONTRACT NAME	100	100	bea				108 NO 329024		18	1/ 5	1		/ /		
DATE 9	26-5	366			DAY	RNOON []			19/	xi/	5/0	EX			
HOLE NO 9	()		NGLE	700	- NIGH				ON THE Y	- May 2	* N	* N	*		
SIZE	7		INGLE	FROM		FEET	OPERATION :	DRILL	HOURS	1	HOURS		/		
CORING				799	10	PEEL	CORING	HOURS	MOOKS	nooks	HOURS	nooks			
CORING (WEDG	E)			118	The second		CORE (WEDGE)								
OVERBURDEN		The state of				7 4 7 8 3	OVERBURDEN					12.5	3445.15		
DRILL CEMENT		THE STATE OF				113	CEMENT/DRILL CEMENT						375.7 3		
REAM CASING				1.74			REAMING								
HOLE STABILIZING 10 10 8															
WATER LINES: DISTANCEFT LIFTFT. WATER LINES															
DOWN HOLE EQU		TYPE	SIZE	FROM	TO	FEET	MOVING								
BIT #	BIT # SETTING UP/TEAR DOWN BIT # MOB/DEMOB (TRUCKLOAD)														
BIT #						WAY.	MOB/DEMOB (TRUCKLOAD)					Vara -			
BIT # MOB/DEMOB (1st Hole/Last Hole)															
SHELL # TRUCK DRIVING															
CASING SHOE #	+ 6														
CORE BARREL							OTHER (Explain)			L. Sta					
OTHER EQUIPMEN	NT								1/1	1					
UNIT		HOURS		REM	ARKS		TRACTOR DRIVING			27					
TRACTOR							WATER TRUCK DRIVING			2					
WATER TRUCK	并						REPAIRS & MAINT.			100					
OTHER							TRAVEL	1 1 1 1	1	1			and the same of th		
ACID TEST DEPTH	1S						ACID TESTING						A. A.		
SURVEY DEPTHS							SURVEYING			1					
		design of					TOTAL HOURS	10							
GENERAL COMM	ENTS:	2046	d L	iot o	geT	Cor	culation BAd	1C.	50	5,	Tup	7	a dr: 11		
Hohe (dry		then	Loce	in T	abe	When to.	550	r+	dr	ell.	un	ARDÓ		
core	bate.	ec ce	AS.	Stuci	Cuf	tee	it pat Had I	0	Co-	ne	11	017	Off		
Botto	EN	AND	STAC	ich 1	WXS	shere	down,								
QUANT	-	ITEA	AS CONSUA	AED		APPROV	AL QUANT.	ITEMS C	ONSUM	FD			APPROVAL		
QUAINT		HCN	15 CO14501	VILL	1 10 10	AITRO	GO/III.	TIETRIO C	01100111						
4															
		PA T						Mile.							
CUSTOME	ER _	Tut	X	Allon	C		COMPANY								

.

0 0 0

	A Division Of P.C. Exploration DAILY TIME REPORT CONTRACT NAME ROSE DUD DAILY TIME REPORT JOB NO 329024 DAIE 9/29/95 DAY HOLE NO 355 AFTERNOON DI SIZE N ANGLE 70 NIGHT												
CONTRACT NAME ROSE BUD JOB NO 329024 / 59 59 5	1 /												
CONTRACT NAME													
HOLE NO 355 AFTERNOON D													
SIZE N ANGLE 70 NIGHT TO SIZE 3 3 3 3	/,												
FROM TO FEET OPERATION DRILL HOURS HOURS HOURS HOURS	+												
CORING 797797 CORING													
CORING (WEDGE)													
OVERBURDEN OVERBURDEN	11.11.14												
DRILL CEMENT CEMENT CEMENT	HTTAR.												
REAM CASING REAMING													
HOLE STABILIZING 6 6 6													
WATER LINES: DISTANCEFT. LIFTFT. WATER LINES													
DOWN HOLE EQUIPMENT TYPE SIZE FROM TO FEET MOVING													
BIT # SETTING UP/TEAR DOWN													
BIT # MOB/DEMOB (TRUCKLOAD)													
BIT # MOB/DEMOB (1 st Hole/Last Hole)													
SHELL # TRUCK DRIVING													
CASING SHOE #													
CORE BARREL OTHER (Explain)	4 - 12 - 12												
OTHER EQUIPMENT													
UNIT HOURS REMARKS TRACTOR DRIVING													
TRACTOR WATER TRUCK DRIVING .													
WATER TRUCK REPAIRS & MAINT.													
OTHER TRAVEL													
ACID TEST DEPTHS ACID TESTING													
SURVEY DEPTHS SURVEYING													
TOTAL HOURS 7 7 7													
GENERAL COMMENTS: ream to bottom													
lost return hole consing													
	1.1914												
QUANT. ITEMS CONSUMED APPROVAL QUANT. ITEMS CONSUMED APPROVA													
load wester													
CUSTOMER South Allow COMPANY													

COATES DRILLING, INC.															
A Divisio	A Division Of P.C. Exploration DAILY TIME REPORT														
CONTRACT NAM	Ras	ebut	1				JOB NO 329024			K)e/	10	3//		
DATE 9/	30/	95	94		DAY	4			10	45/	10	109	/ /		
HOLE NO 9	5-3	55			AFTE	RNOON []			0/		5/	land			
SIZE 1	19	A	NGLE_	70	NIGH	нт 🗆		/ 8	8/ X	***	* N	* ×	\$		
13				FROM	TO	FEET	OPERATION	DRILL	HOURS		HOURS	1 - 1	/		
CORING						4	CORING	HOOKS							
CORING (WED	GE)						CORE (WEDGE)			, : ;		1-6-			
OVERBURDEN							OVERBURDEN								
DRILL CEMENT							CEMENT/DRILL CEMENT	- 6							
REAM CASING							REAMING			de adress	1-1-2				
							HOLE STABILIZING	10	10	10	10				
WATER LINES:	DISTANCE		FT.	LIFT		_ FT.	WATER LINES	17-1-	4		5 7 1	1	*		
DOWN HOLE EC	DOWN HOLE EQUIPMENT TYPE SIZE FROM TO FEET MOVING BIT # SETTING UP/TEAR DOWN														
BIT #	BIT # SETTING UP/TEAR DOWN														
BIT #		- 6.6 S			4.00	Sp	MOB/DEMOB (TRUCKLOAD)	4							
BIT #			the	Mark .		545	MOB/DEMOB (1 st Hole/Last Hole)					7			
SHELL #					10-11-11	100	TRUCK DRIVING				0 3				
CASING SHOE	#							数				Market Table			
CORE BARREL						40	OTHER (Explain)			To Allah			ten de Mai		
OTHER EQUIPM	ENT								14						
UNI	T	HOURS		REM	ARKS		TRACTOR DRIVING	*							
TRACTOR							WATER TRUCK DRIVING					1/			
WATER TRUCK	71 12 71-31 12						REPAIRS & MAINT.	10							
OTHER							TRAVEL		1	1	1				
ACID TEST DEPT	rhs			7.54	0		ACID TESTING				47.5				
SURVEY DEPTHS	S				7 12	70	SURVEYING			1116	18				
	V	1					TOTAL HOURS	17.4	11	11	11				
GENERAL COM	MENTS:	lix	clay	Bas	E/	nud	with clora	di	~	ar	C	ny	i w 1106		
Then	572	arec	d	OWN	7	127	to 724 Co	uha	f. K	107	NO	7	927		
ANGWO	ear d	4075	26	SONO	l co	MEIN	rofof Hol	e	-6,	211	24	Pa	11 Rod		
Rock Col	e br	orrhe	off	va	sev	TIV	with WASh	K	00	/_					
											-				
QUANT.	./	ITEA	AS CONSUA	MED		APPROV	AL QUANT.	ITEMS C	ONSUM	ED			APPROVAL		
6	6 Hyyesed Och														
12	12 Posassing Clorida														
	5gal	L hig	und D	risp	1dC				7			7			
	4	1 1	2 X (10	2		1								
CUSTO	MER	just	0.	yes	(m)		COMPANY								

A Division Of I	P.C. Ex	cplora	tion		DAILY	TIME REPORT				2/	5	7/
CONTRACT NAME	Rosel	bud	1000		W	108 NO 39024		100	6	7	9	7 /
DATE 9/				DAY	5		4	3	1	4	F 3	7
HOLE NO3				AFTER	I NOON			9	A	D	4	
SIZEN	A	NGLE		NIGH	ा र्ख		1	2/2	*	3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3	War of the second	\$
			FROM	TO	FEET	OPERATION	DRILL	71.0	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		HOURS	
CORING			797	797	0	CORING					3 1 1 1 2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	
CORING (WEDGE)	ENT N					CORE (WEDGE)						
OVERBURDEN	- Table 1		· ·			OVERBURDEN						
DRILL CEMENT		Sir Lin	E Land			CEMENT/DRILL CEMENT						
REAM CASING						REAMING						Chamberle .
						HOLE STABILIZING	10	10	10			
WATER LINES: DISTANCE		FT.	LIFT		FT.	WATER LINES			VS.			
DOWN HOLE EQUIPMENT	TYPE	SIZE	FROM	то	FEET	MOVING						
BIT #						SETTING UP/TEAR DOWN				ST E		
BIT #						MOB/DEMOB (TRUCKLOAD)						
BIT #	The life				A. Marie	MOB/DEMOB (1 st Hole/Last Hole)		Part -				
SHELL# TRUCK DRIVING WOLFER ROT 10												
CASING SHOE #	Min											
CORE BARREL						OTHER (Explain)			7.7			
OTHER EQUIPMENT								- + = 7				
UNIT	HOURS		REM	ARKS		TRACTOR DRIVING						
TRACTOR						WATER TRUCK DRIVING						
WATER TRUCK						REPAIRS & MAINT.		3.15				作物特集
OTHER						TRAVEL	1		1	1		
ACID TEST DEPTHS						ACID TESTING						
SURVEY DEPTHS						SURVEYING						
			اد الممود			TOTAL HOURS	11	7/	N	11		
GENERAL COMMENTS:	truin	a to	inas	h the	u Fa	ult and and	Land Control	# STEEL BY	eternia in			
	3	7										
											A.A.	
								1.64	19:14	di		1
QUANT.	ITEM	IS CONSUM	MED		APPROV	AL QUANT.	ITEMS C	ONSUMI	ED			APPROVAL
1 Ba	5 m	ud (3ento	rite	in set h		Y.					
	4									15.		12 E. A.
												1-164 08
											13.00	
4	11	- X C	A 06	0		COMPANY						

P C EXPLORATION, INC. P. 0. Box 870096 Woods Cross, UT 84087-0096 (801) 295-4238

INVOICE NO: 3169 Page: 1

taries (mile taries Torus comes arms arms (office mile) point after State State State (first STAT (Albert Albert A

Invoice Date: 10/27/95

HECLA MINING COMPANY ROSEBUD PROJECT P.O. BOX 1861 LOVELOCK, NV 89419 ROSEBUD PROJECT

Job: 329024	to the forest of the same of		NET 30 DAYS		
Qty	Description HOLE 95-355 A HQ AND O FOOTAGE 955 FEET B BACK UP FOR FOLLOWING	GLE HOLE ILLED PREVIOUSLY	yana yana sekarah sebelah Kityi	Unit \$	Total
1.00	MATERIALS		S	10,666.79	\$10,666.79
53.00	DRILL CREW HOURS			\$95.00	\$5,035.00
4.00	WATER TRUCK DAYS			\$175.00	\$700.00
14.00	WATER TRUCK HOURS			\$30.00	\$420.00
28.00	PER DIEM (INCLUDES S	UPERVISOR)	Service of the service	\$50.00	\$1,150.00

OK to prof 116150-571 Challed Much ite 3

Please remit payment to: 1780 Vernon Street, Suite 3 Roseville, CA 95678 For Inquiries call (801) 295-4238

Total Invoice: \$ 17,971.79

P-C EXPLORATION, INC. P. Q. Box 870096 Woods Cross, UT 84087-0096 (801) 295-4238

INVOICE NO: 3169 Page: 1

and store over their high color store than some that their two tests rough from their first own to the store than their store than the store than their store than the store the store than the store than the store than the store tha

Invoice Date: 10/27/95

HECLA MINING COMPANY ROSEBUD PROJECT P.O. BOX 1861 LOVELOCK, NV 89419 ROSEBUO PROJECT

Job:	Unit #	Terms	Work Date	
329024	LY 38	NET 30 DAY	S 10/15 TO	10/18/95
Q t. y	Description HOLE 95-355 A HQ ANGLE HOLE O FOOTAGE 955 FEET BILLED PREVIOUS BACK UP FOR FOLLOWING ATTACHED	SLY	Unit \$	Total
1.00	MATERIALS		\$10,666.79	\$10,666.79
53.00	DRILL CREW HOURS		\$95.00	\$5,035.00
4.00	WATER TRUCK DAYS		\$175.00	\$700.00
14.00	WATER TRUCK HOURS		\$30.00	\$420.00
28.00	PER DIEM (INCLUDES SUPERVISOR)	· 1000年 · 1000年 · 1000年 · 1000年	\$50.00	\$1,150.00

OK to prof 116150-577 116150-577 Charles V. Much M o: ite 3

Please remit payment to: 1780 Vernon Street, Suite 3 Roseville, CA 95678 For Inquiries call (801) 295-4238

Total Invoice: \$ 17,971.79

HECLA MINING COMPANY ROSEBUD MINE AUGUST PROJECT BACKUP

DATE	MATERIALS	UNITS	AMOUNT	TOTAL
10/15	SPOTTING FLUID	2	\$195.50	\$391.00
	VEGETABLE OIL/5 GALLON	4	\$32.81	\$131.24
	DRILL DETERGENT	1	\$38.49	\$38.49
	HIGH YIELD GEL	1	\$6.38	\$6.38
10/18	HQ RODS	45	\$153.38	\$6,902.10
	HW CASING 5'	11	\$172.50	\$1,897.50
	HQ BIT L37071	1	\$959.17	\$959.17
	HQ SHELL	1	\$340.91	\$340.91
			1	\$0.00
				\$0.00
				\$0.00
8				\$0.00
				\$0.00
				\$0.00
			1	\$0.00
			E E	\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
				\$0.00
			(9)	\$0.00
				\$0.00
		,		\$0.00
				\$0.00
THIS SHE	ET REFLECTS BOTH SHIFTS			\$0.00
TTIIO OF IL	LET NEI EEGTG BOTTT GTIII TG			\$0.00
				\$0.00
				\$0.00
				\$0.00
		-,		\$0.00
		66		\$10,666.79
L		00		ψ10,000.79

HECLA MII	NING COMPANY	HOLE	Γ	
ROSEBUD	MINE	95-355A		
AUGUST F	ROJECT BACKUP			
DATE	DESCRIPTION	HOURS	PER HR	TOTAL
	PULL STUCK RODS PULL STUCK RODS	10	\$95.00	\$950.00
			\$95.00	\$950.00
10/10	STABILIZATION/PULL STUCK RODS	3	\$95.00	\$285.00
	WORKING ON/CUTTING RODS	6	\$95.00	\$570.00
10/10	RE-ALIGN RIG	1	\$95.00	\$95.00
	TRYING TO CUT RODS	2	\$95.00	\$190.00
	CUTTING AND WORKING ON RODS	5	\$95.00	\$475.00
	CUTTING RODS	6	\$95.00	\$570.00
10/18	TEARDOWN/LOADING	6	\$95.00	\$570.00
	PULLING CASING/RODS	4	\$95.00	\$380.00
			\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
	,		\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
			\$95.00	\$0.00
:			\$95.00	\$0.00
			\$95.00	\$0.00
THIS FORM	COMBINES BOTH SHIFTS			
		53		\$5,035.00

HECLA MINING COMPANY ROSEBUD MINE

HOLE 95-355A

AUGUST PROJECT BACKUP

		ATER TRUCK		WAT	ER TRUCK	HOURS	SI	JBSISTENC	E
DATE	DAŸS	AMOUNT	TOTAL	HOURS	PER HR	TOTAL	MEN	AMOUNT	TOTAL
10/15	1	\$175.00	\$175.00	10	\$30.00	\$300.00	3	\$50.00	\$150.00
10/15		\$175.00	\$0.00	0	\$30.00	\$0.00	2	\$50.00	\$100.00
10/16	1	\$175.00	\$175.00	0	\$30.00	\$0.00	3	\$50.00	\$150.00
		\$175.00	\$0.00	0	\$30.00	\$0.00	3	\$50.00	\$150.00
10/17	1	\$175.00	\$175.00	4	\$30.00	\$120.00	3	\$50.00	\$150.00
		\$175.00	\$0.00	0	\$30.00	\$0.00	2	\$50.00	\$100.00
10/18	1	\$175.00	\$175.00	0	\$30.00	\$0.00	3	\$50.00	\$150.00
		\$175.00	\$0.00		\$30.00	\$0.00	, , , , , , , , , , , , , , , , , , ,	\$50.00	\$0.00
10/5-18		\$175.00	\$0.00	0	\$30.00	\$0.00	4	\$50.00	\$200.00
SUPER	/ISOR	\$175.00	\$0.00		\$30.00	\$0.00		\$50.00	\$0.00
		\$175.00	\$0.00		\$30.00	\$0.00		\$50.00	\$0.00
		\$175.00	\$0.00		\$30.00	\$0.00		\$50.00	\$0.00
		\$175.00	\$0.00		\$30.00	\$0.00		\$50.00	\$0.00
		\$175.00	\$0.00		\$30.00	\$0.00		\$50.00	\$0.00
		\$175.00	\$0.00		\$30.00	\$0.00		\$50.00	\$0.00
		\$175.00	\$0.00		\$30.00	\$0.00		\$50.00	\$0.00
		\$175.00	\$0.00		\$30.00	\$0.00		\$50.00	\$0.00
		\$175.00	\$0.00		\$30.00	\$0.00		\$50.00	\$0.00
111		\$175.00	\$0.00		\$30.00	\$0.00		\$50.00	\$0.00
		\$175.00	\$0.00		\$30.00	\$0.00		\$50.00	\$0.00
			-				v v		
						e			
DAY SH	IFT AND	NIGHT SHIF	T COMBINED	ON THIS	FORM				
								81	
	4		\$700.00	14		\$420.00	23		\$1,150.00
									\$2,270.00

P C EXPLORATION, INC. P. 0. Box 870096 Woods Cross, UT 84087-0096 (801) 295-4238

INVOICE NO: 3161 Page: 1

Invoice Date: 10/26/95

HECLA MINING COMPANY ROSEBUD PROJECT P.O. BOX 1861 LOVELOCK, NV 89419 ROSEBUD PROJECT

Job:		Unit #	Terms W	ork Date	
329024	The state of the s	LY38	NET 30 DAYS 10)/3 TO 10	/14/95
Qt.y	Description			Jnit \$	Total
	HOLE 95-355 A HQ AN	GLE			in September
500.00	HQ ANGLE O TO 500 FE	ET		\$22.50	\$11,250.00
455.00	HQ ANGLE 500 TO 955	FEET		\$23.50	\$10,692.50
	BACK UP FOR FOLLOWIN	G ATTACHED			
30.50	DRILL CREW HOURS			\$95.00	\$2,897.50
1.00	MATERIALS		\$:	3,557.36	\$3,557.36
12.00	WATER TRUCK DAYS			\$175.00	\$2,100.00
94.00	WATER TRUCK HOURS			\$30.00	\$2,820.00
61.00	PER DIEM (INCLUDES S	UPERVISOR		\$50.00	\$3,050.00

on to pry

716150-57 weeky.

The state of the s

Please remit payment to: 1780 Vernon Street, Suite 3 Roseville, CA 95678 For Inquiries call (801) 295-4238

Total Invoice: \$ 36,367.36

P+C EXPLORATION, INC. P. 0. Box 870096 Woods Cross, UT 84087-0096 (801) 295-4238

INVOICE NO: 3161 Page: 1

young street street where street which whi

Invoice Date: 10/26/95

HECLA MINING COMPANY ROSEBUD PROJECT P.O. BOX 1861 LOVELOCK, NV 89419 ROSEBUD PROJECT

Job:	Unit #	Terms	Work Date
329024	LY38		S 10/3 TO 10/14/95
Qty	Description		Unit \$ Total
	HOLE 95-355 A HQ ANGLE		
500.00	HQ ANGLE O TO 500 FEET		\$22.50 \$11,250.00
455.00	HQ ANGLE 500 TO 955 FEET		\$23.50 \$10,692.50
	BACK UP FOR FOLLOWING ATTACHE	D .	
30.50	DRILL CREW HOURS		\$95.00 \$2,897.50
1.00	MATERIALS		\$3,557.36 \$3,557.36
12.00	WATER TRUCK DAYS		\$175.00 \$2,100.00
94.00	WATER TRUCK HOURS		\$30.00 \$2,820.00
61.00	PER DIEM (INCLUDES SUPERVISOR		\$50.00 \$3,050.00

- F

or to pry
16150-517 Mue MI
Chale &V. Mue MI

Please remit payment to: 1780 Vernon Street, Suite 3 Roseville, CA 95678 For Inquiries call (801) 295-4238

Total Invoice: \$ 36,367.36

The state of the s

HECLA MINING COMPANY ROSEBUD MINE

AUGUST PROJECT BACKUP

AUGUS		<u>ECT BACKUP</u> ATER TRUCK		WATI	ER TRUCK	HOURS	SI	JBSISTENC	E
DATE	DAYS	AMOUNT	TOTAL	HOURS	PER HR	TOTAL	MEN	AMOUNT	TOTAL
10/3	1	\$175.00	\$175.00	5	\$30.00	\$150.00	3	\$50.00	\$150.00
10/3		\$175.00	\$0.00	0	\$30.00	\$0.00	2	\$50.00	\$100.00
10/4	1	\$175.00	\$175.00	9	\$30.00	\$270.00	4	\$50.00	\$200.00
10/4		\$175.00	\$0.00	0	\$30.00	\$0.00	2	\$50.00	\$100.00
10/5	1	\$175.00	\$175.00	0	\$30.00	\$0.00	4	\$50.00	\$200.00
10/5		\$175.00	\$0.00	0	\$30.00	\$0.00	2	\$50.00	\$100.00
10/6	1	\$175.00	\$175.00	0	\$30.00	\$0.00	3	\$50.00	\$150.00
10/7	1	\$175.00	\$175.00	10	\$30.00	\$300.00	4	\$50.00	\$200.00
10/8	1	\$175.00	\$175.00	10	\$30.00	\$300.00	4	\$50.00	\$200.00
10/9	1	\$175.00	\$175.00	10	\$30.00	\$300.00	4	\$50.00	\$200.00
10/10	1	\$175.00	\$175.00	0	\$30.00	\$0.00	3	\$50.00	\$150.00
	4	\$175.00	\$0.00	0	\$30.00	\$0.00	2	\$50.00	\$100.00
10/11	1	\$175.00	\$175.00	10	\$30.00	\$300.00	4	\$50.00	\$200.00
		\$175.00	\$0.00	0	\$30.00	\$0.00	2	\$50.00	\$100.00
10/12	1	\$175.00	\$175.00	10	\$30.00	\$300.00	4	\$50.00	\$200.00
		\$175.00	\$0.00	0	\$30.00	\$0.00	2	\$50.00	\$100.00
10/13	1	\$175.00	\$175.00	10	\$30.00	\$300.00	4	\$50.00	\$200.00
		\$175.00	\$0.00	0	\$30.00	\$0.00	2	\$50.00	\$100.00
10/14	1	\$175.00	\$175.00	10	\$30.00	\$300.00	3	\$50.00	\$150.00
		\$175.00	\$0.00	10	\$30.00	\$300.00	3	\$50.00	\$150.00
							-		
DAY SH	IIFT AND	NIGHT SHIF	T COMBINED	ON THIS	FORM		V		
									00.000.00
	12		\$2,100.00	94	, , , , , , , , , , , , , , , , , , , ,	\$2,820.00	61		\$3,050.00
1									\$7,970.00

HECLA MII	NING COMPANY	HOLE	95-3	55	
ROSEBUD	·	95-355			
	ROJECT BACKUP				
DATE	DESCRIPTION	HOUR	S	PER HR	TOTAL
	SETTING UP	/	9.5	\$95.00	\$902.50
10/4	PULL RODS/BREAK RODS/NC	-		\$95.00	\$0.00
10/5	HOLE STABILIZATION	V	1	\$95.00	\$95.00
	HOLE STABILIZATION	-	2	\$95.00	\$190.00
10/10	HOLE STABILIZATION/CLEAN SUMP	-	1	\$95.00	\$95.00
	HOLE STABILIZATION	/	2	\$95.00	\$190.00
10/11	LOST CIRCULATION/CHANGE MUD		4	\$95.00	\$380.00
10/12	HOLE STABILIZATION		2	\$95.00	\$190.00
	HOLE STABILIZATION	/	1	\$95.00	\$95.00
10/13	HOLE STABILIZATION	1	2	\$95.00	\$190.00
	LOST CIRCULATION/CLEAN SUMP	1	3	\$95.00	\$285.00
	HOLE STABILIZATION		1	\$95.00	\$95.00
10/14	HOLE STABILIZATION	/	2	\$95.00	\$190.00
				\$95.00	\$0.00
				\$95.00	\$0.00
				\$95.00	\$0.00
				\$95.00	\$0.00
				\$95.00	\$0.00
				\$95.00	\$0.00
				\$95.00	\$0.00
				\$95.00	\$0.00
				\$95.00	\$0.00
				\$95.00	\$0.00
				\$95.00	\$0.00
				\$95.00	\$0.00
				\$95.00	\$0.00
				\$95.00	20.00
				\$95.00	See the State of
				\$95.00	
				\$95.00	
				\$95.00	
				\$95.00	
				\$95.00	
				\$95.00	
				\$95.00	
THIS FOR	RM COMBINES BOTH SHIFTS				
			30.5	5	\$2,897.50

HECLA MINING COMPANY ROSEBUD MINE AUGUST PROJECT BACKUP

DATE	MATERIALS	UNITS	AMOUNT	TOTAL
108/	POLYMER (1 DRUM 55 GALLONS)	11	\$75.00	\$825.00
ž.	K LUBE	1	149.07	\$149.07
10/11	MLC MICA	1	26.39	\$26.39
	GEL	8	6.38	\$51.04
	LIQUID DRISPAC	1	129.77	\$129.77
	POTASSIUM CHLORIDE	6	23.29	\$139.74
	QUICK BEN	6	\$6.38	\$38.28
	LIQUID DRISPAC	1	129.77	\$129.77
10/12	GEL	1	\$6.38	\$6.38
	LIQUID DRISPAC	1	\$129.77	\$129.77
	SUPER K	1	\$102.64	\$102.64
	QUICK BEN	4	\$6.38	\$25.52
10/13	HIGH YIELD GEL	9	\$6.38	\$57.42
	K LUBE	2	\$149.07	\$298.14
	EXTRA K	1	\$102.64	\$102.64
	QUICK BEN	3	\$6.38	\$19.14
10/14	HIGH YIELD GEL	5	\$6.38	\$31.90
	EXTRA K	1	\$102.64	\$102.64
	QUICK BEN	2	\$6.38	\$12.76
	POLYMER (1 DRUM 55 GALLONS)	11	\$75.00	\$825.00
	HQ CORE BOXES	95	\$3.73	\$354.35
				\$0.00
				\$0.00
				\$0.00
				\$0.00
	*			\$0.00
				\$0.00
-				\$0.00
THIS SHEI	ET REFLECTS BOTH SHIFTS			\$0.00
				\$0.00
8				\$0.00
				\$0.00
				\$0.00
				\$0.00
		171		\$3,557.36